OvJ9ARNSEIR I INA R ERON

LOCK-TIGHT 5 AXIS MACHINE VISES  PAT.P No.E-9940B

J1Z)\N—9)bOstvk

% %

N—=2R- 218
SOVROR(TIVETUY) - WITNH4E
FNATUTERIUS M8x16- - - 418
RIENATUTERILS M8X15- - - 48

OOV IIARETY Y NA X THED—J-BFERD—T%

UJs75-R
ISV TTBHTENTERT,

W{ERE

UJS75-RG UJS100-125-RG
UJS75-R UJS75-RG UJS100-125-R UJS100-125-RG
Q. 2-pPFU . pNEETD ﬂ 2-pPFU, pNEETD) Ve o 5 €]
() (o)
1P %) J 1D & &
NN &Y 1@ |44 4 @ |-
(3
L2 e el e
= s o EN o -
(7'/\)\ @ q 5 S/
L3 N4 -4 \‘ﬂ -
d J
J J B C s
B B

y oH oH
(0] SN ON
——— 2
- T ] 4+ - E
001;‘: v ol O] | O 9l O U o O 1:1 o
! ¥ T T i
—I—)k N J—%
D £ LLT i [} ol w |OPL

- D_E D |E D _|E
>
P
N
il L =il =E * SR

F—5"—No. No. EOHIE : 94F : HBkg i

* 997945 UJS 75-RRG LTSAU75(MF.FM)  TS5wheT U 1.1 47,300

* 997943 uJs 75R LTSAU75(MF.FM) — F5wh 0.9 36,500

* 997944 UJS 75-RG LTSAU75(MF.FM) — JUvZ? 0.9 38,400

* 997237 UJS100-RRG LTSAUT00(MF.FMY) - TS5wheTUw 1.5 48,700

* 997235 UJS100-R LTSAUT00(MF.FM) - T5wh 1.3 37,800

* 997236 UJS100-RG LTSAUT00(MF.FM) - 0w 1.3 39,800

* 147032 UJS125-RRG LT5AU125F TSI Uy 1.6 57,000

* 147033 UJS125R LT5AU125F TSk 1.4 45,600

* 147034 UJS125-RG LT5AU125F JUwF 1.4 47,300

J K L M N O P Q R 5
27 010 57 385 14 :85 9 12 - 14 49
17 :285 45 51 14 85 9 13 . 76
17 1295 66 625 14 85 9 125100

No. A:B:C:iD:E:iFiG:iH:
UJS 75-(RRGRRG) | 77: 40 28 19 16 5 15 28
UJS100-(RRG,RRG) [102: 45 28 24 16 5 15 28
UJS125-(RRGRRG) [125: 45 28 24 16 5 15 28

@|| | —

SINCE 1560

1236 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ (xa\ NABEYA co, L.

2023.7.21




AZN—Y)LSDVRO%

SUVROL (TSN TUv) - - LTNH4E
INAETUTERILS M8Xx16- - - AfF
UJR8 UJRGS

UJRS “ 9

UJRG8 oA A
03 *GE?
OFD ‘T
U © )| “ =
oHe oI
oD 5E L
OF

W% g xR * EEEES
#—5"—No. No. EoWiE 947 A B C D E :F G H | @EBkg 6§
* 997239 UJR8 LTSAUSH A J5wk 28 013 - 8 15 5 136 5 - 83 - : 0.2 | 10,200
* 997240 UJRG8 |LTSAUEH AR ZJUy= 28 13 8 15 5 245 136: 5 86 : 02 | 12,000

AZN—YILR—2R

N—=X---2{8
INATUSERILS M8x16- - - 41

UJB100

20NFU.GOBTY | Q_ 3-6H1385 36H 1885 R ©
%
o 7N N7
\{J\ UJ &)
. 2L
" () ) <
= () 4 <
N N\ v
o [ D) el A >
- 2 5 N
B «
5 Lk 20N+ 9OBETY A
B
[ . . _W
“HE T o 4T =
i ol 1 oj
D _|E_|[\3J 5 . -
UJB75 UJB100-125
s RilES * EETEES
+—5"—No. No. EE S i A i B ¢ C { D i E ¢ F i G i H
% 997946 | UJB 75 | LT5AU7Z5(F.FM) .77 . 40 ¢ 20 0 19 ¢ 16 5 15 ¢ 15
%997238 | UJB100 | LTSAUT00(MFFM) @ 102 @ 45 20 © 24 © 16 5 15 15
% 147035 | UJB125 | LT5AU1T25F S 125 45 0 20 ¢ 24 ¢ 16 5 15 15
No. | J@®» K L M . N : O : P i Q R . S —mEk| @K
UJB 75 55 M8X125: 27 10 285 : 9 14 85 12 - 14 © 49 . 07 | 30,600
UJB100 55 M8x125 17 285 225 9 14 85 13 = 76 - - 1.1 | 31,900
uJB125 55 M8 £ 17 1295 33 ¢ 9 14 © 85 125 100 © - 1.2 | 38,000

SINCE 1560

NABEYA co,u0. CADF—99 5 v0—F - EEESIE Web 51 hT ! [ FAv \ 1237

2023.7.21






